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1. ITacnopT poHIA OLIEHOUYHBIX CPEICTB

1.1 O6aacTh NnpUMeHeHUs

@®oH/1 OIEHOYHBIX CPEACTB IpEIHA3HAUYEH JUId MPOBEPKU PE3YyIbTATOB OCBOEHUS

muctummnael OI'CO.03. MHOCTpaHHBIN SA3BIK  (QHTIMICKHUI) MPOTPaMMBl  TIOATOTOBKH
CIIEIIMAIIMCTOB CPEIHETO 3BeHa 10 crennanbHocTh: 22.02.06 CBapouHoe IpOU3BOACTBO.

®OC BkIIOYaET KOHTPOJIbHBIE MAaTEpHUalbl Ul MPOBEACHUS TEKYILEro KOHTPOJIS

YCIEBAEMOCTH U NMPOMEXKYTOUHOM arrecTanuu B ¢opme audpdepeHInpoBaHHOIO 3a4eTa.

HUtorom nudgepeHunpoBaHHOrO 3ayeTa SBJISETCS OLIEHKa B Oaiiax: 5 — oTiau4HO; 4 —

XO0pomo, 3- YAOBJICTBOPHUTCIILHO, 2- HCYIOBJICTBOPUTCIILHO.

®OC 1o3BoOISAET OLOCHUBATHL YPOBCHL OCBOCHUA 3HAHUU U YMCHI/Iﬁ 110 JUCHUIIIIMHC.

1.2 Pe3y.1'lLTaTLI OCBOCHHSA TUCHUIIJIMHBI, MOAJEC/KAINNUE KOHTPOJIIO
B PE3YIbTATC KOHTPOJISA W OLCHKU II0 AWCHUIINIMHC OCYIICCTBIIACTCS ITPOBCPKaA
CICAYIOIUX 3HAHUU U YMeHI/Iﬁ I10 IMTOKa3aTCJIsAM:

Taobmumna 1

Pe3yabTaTsl 00yyeHus

TToka3aTenu oeHKH

®opmupyembie 001HE

KOMIIeTEeHINH,
pe3yJbTara
JIMYHOCTHBIE Pe3yJIbTAThI
V1 oOmarecs (yctHO U | - yMEHUE nepeckassiBath | OK 01, OK 03, OK 04,

IIUCHMEHHO) Ha | mpountannylo unpopmammo ¢ | OK 06, JIP 2, JIP 7, JIP 9,
UHOCTPAaHHOM  SI3BIKE Ha | MCIIOJb30BAHHUEM KIIHIIE, PEUCBBIX JIP10, JIP12
npodeccuoHanbHbIe U | omnop
ITOBCEIHEBHEIC TEMBI,
V2 MEPEeBOANTH (co |- BBINIOJTHEHNE YCTHBIX u | OK 01, OK 04, OK 06,
cloBapeM)  HMHOCTpaHHBIE | MMCHMEHHBIX TepeBojoB Tekctos u | JIP 2, JIP 7, JIP 9, JIP10,
TEKCTHI craTeit npodeccuoHanbHON JIP12
npodeCCHOHATBHON HAMpaBJICHHOCTH, a TaK)Ke HaydHO-
HaIlpaBJICHHOCTH; MIOITYJIIPHOTO TEKCTa CO CIIOBAPEM.

- WUCNOJB30BaHUE  PaA3JIMYHBIX

HCTOYHUKOB uHpOpMaIInH,

BKITIOYAst SJIEKTPOHHEIE, npu

BBIMIOJIHEHUM  TPAKTHYECKUX U

CaMOCTOSITENILHBIX

UCCIIEIOBATEIBCKUX PaboT
V3 CaMOCTOSITENIEHO | -  rpamoTHoe  wmcmosb3oBarme | OK 03, OK 04, OK 06, OK
COBEPIIICHCTBOBATh YCTHYIO | SI3BIKOBBIX CpEICTB npu | 09, JIP 2, JIP 7,JIP 9,
A THACBMEHHYIO  p€4b, | MIOCTPOECHUH nyonugHoro | JIP10, JIP12
HOMOJHATh  JIGKCHUECKHH




3ariac BBICTYIIJICHUSA

- 3¢ ¢exTuBHBIN MIOUCK
HE00XO0aMMOM HH(POPMAILTHH

- HUCITIOJIB30BaHUEC Pa3IIMIHBIX

HUCTOYHUKOB
31  nexcuueckuit (1200- | - sddexTuBHBIN nouck | OK 04, OK 06, OK 07,
1400 JEKCHYeCKuX | HeoOxomumoit wuHbopmaruu 1pu | OK 09, JIP 2, JIP 7, JIP 9,
€IUHUIT) U | YTEHUU TEKCTOB. JIP10, JIP12
rpaMMaTH4YeCcKui
MEHVMYM, HeOGXOMIMELH | WCIOJIb30BAHUE  PA3IMYHBIX
JUISL 9TeHHs | TepeBoza (co | MCTOTHAKOB unpopmaLu,

BKJIIOYast ANEKTPOHHBIE, TUIS

CJIOBapeM) HHOCTPAHHBIX

ApPrYMCHTHUPOBAHUA CcOOCTBEHHOM
TCKCTOB pry p

. TOYKHU 3PCHUSI.
npodeCcCHOHAILHON p

HalpaBJICHHOCTH. - OpraHM3alys CaMOCTOSTEIbHBIX

3aHATUN npu U3YYECHHUH
rpaMMaTHYE€CKOTO0 U JIEKCUYECKOTO
Marepuana.

- TOMCK HEOOXOIMMBIX S3BIKOBBIX
CAMHUL] c TOYKHU 3peHus
IPAaBWIBHOCTH  YHNOTpeOJIeHUus B
Pa3JIMYHBIX PEUYEBBIX CUTYALIMSX.

1.3 CucremMa KOHTPOJISI M OLIEHKH OCBOEHMSI IPOrPaMMbl M CUMILIMHBI

1.3.1 ®opMbI NPOMEKYTOYHOH ATTECTAUMH MO NPOrpaMMe NPH OCBOCHUM
NMPOrpamMMbl U CHUAIJIMHBI

TaOmuna 2
HanmeHoBanue Cemectp Ha 0aze ®opmbl
AUCHUIIJIUHBI OCHOBHOI'Q cpeaHero l’lpOMe)KyTO‘lHOﬁ
o0mero o01ero aTTecTaluu
o0pa3oBaHusi | oOpa3oBaHus
HNHoCTpaHHBIN A3BIK 4 2 Qg QepeHIMPOBaHHBIN
(a”HrITUHACKMIN) 3a4eT
HNHoCTpaHHBIN A3BIK §) 4 Qg QepeHIMPOBaHHBIN
(aHTTTUHACKMIN) 3a4eT
WNHOCTpaHHBIN SA3BIK 8 3] g depeHIIMPOBaHHBIN
(aHTIHIACK M) 3a4yer

1.3.2 Opranuszanusi KOHTPOJISI M OLIEHKH OCBOEHMS MPOrPAMMBbI AU CHUIIJINHbI
OcHoBHBIMH (hOopMaMU TPOBEACHUS TEKYIIETO KOHTPOJIS 3HAHUM Ha 3aHATHSIX
SABIIAIOTCA: YCTHBIA OINPOC, TECTUPOBAHUE, BBIMOJIHEHUE JIEKCUKO-TPAMMATUYECKUX



ynpa)KHeHHﬁ, dTCHHUC M TIICPCBOJ TCKCTA, MOHOJOIMYCCKHC MW JUAJIOTMYCCKHC

COOOIIIEHHS, dCCE M0 TEME.

Tabnuna 3
. IIpomexyTouHas
Texkyuuii KOHTPOJIb yCIIeBAEMOCTH
Pa3nena/Tema arrecranms
JMCHUILIMHBI DopMBI KOHTPOIS ITpoBepsiembie ®opmbl | IIposepsiembie
Y, 3, OK, JIP KoHTpoJs | Y, 3, OK, JIP
Pasnen 1 BBomHO-KOpPPEKLIMOHHBIN Kypc Hdud. V1,V2,V3,31
3a4yeT OK 01, OK
Tema 1.1 BxoaHO#T KOHTPOJIb. V1,V2,V3,31 03, OK 04,
AHTI0S3bIYHBIE TectupoBanue. OK 03, OK 04, OK OK 06, OK
CTpaHBbI 07, JIP7, JIPY, JIP10 07, OK 09,
Tema 1.2 VcTHBIH onpoc. V1,V2,V¥3, 31 JIP2, JIP7,
[TyremecTue Momosoruueckoe OK 03, OK 04, OK JIP9, JIP10,
COOOIIeHHE. 07, JIP7, JIPY, JIP10 JIP12

Paznen 2 PasBuBatomuii kypc

Tema 2.1. Marasunel.

[Hokynku

Jlmanoruaeckue
COOOIIICHHS.

V1,¥2,¥3,31
OK 03, OK 04, OK
07, JIP7, JIP9, JIP10

Tema 2.2. Hayka

Urenue u nepeBoj TEKCTA.

V1,¥2,¥3,31
OK 03, OK 04, OK
06, JIP2, JIP7, JIP9

Tema 2.3. Dxonorus

UreHue U nepeBo1 TEKCTa.

MoHoaxorn4eckoe
CcOoOO0IIEeHHE.

V1,¥2,V3,31
OK 03, OK 04, OK
07, JIP2, JIP7, JIP10

Tema 2.4.
O6pa3zoBanue

Urenue u nepeBoa TCKCTA.

V1,¥2,V3,31
OK 03, OK 04, OK
06, JIP2, JIP7, JIP9

Tewma 2.5. XKenesnrie
noporu Poccun

MOHOJI0TrHYECKOe
COO0OIIEHHE.

V1,¥2,V3,31
OK 01, OK 03, OK
04, JIP10

Tema 2.6. Pabora.

YcTHBIM onpoc.

V1,¥2,¥3,31

Kapnepa MoHonornyeckoe OKO01, OK 03, OK
cooO1IeHHE. 04, JIP7
Tewma 2.7. KyneTypa YcTHBIN ompoc. V1,¥2,V3,31
MoHnoJrorngaeckoe OK 03, OK 06,
CcoOoO0IIeHHE. JIP7, JIP9
Tema 2.8. [Ipobmembr | Dcce 1o Teme. V1,VY2,V3,31
MOJIOIEXKH OK 03, OK 04,
OK 06, JIP9, JIP10,
JIP12
Tema 2.9. BrInonneHue JIEKCUKO- Vi1, V2,V¥3, 31
Komrmbrorepbl rpaMMaTHYECKUX OK 03, OK 04,
YIpaXXHEHUH. OK 06, JIP2, JIP7,
JIP10
Tema 2.10. Urenne u mepeBoa Tekcta. | Y1, V2, V3, 31

6




ABTOMaTH3AIHS OK 01, OK 03,

OK 04, JIP10
Tema 2.11. EBponia Ha | Urtenue u nepeBoA Tekcta. | Y1, V2, VY3, 31
penbcax Momnonornueckoe OK 01, OK 03, OK

COOOIICHHE. 04, JIP10

Tema 2.12. YcTHEII ompoc. V1,V¥2,V3,31
CoBpeMeHHbIE OK 01, OK 03,
noesaa. [loe3na OK 04, JIP10
Oymymiero
Tema 2.13. Pa3Burtue Urenue u nepeBoxa Tekcta. | Y1, V2, Y3, 31
JKEJIe3HBIX JJOPOT OK 01, OK 03,

OK 04, JIP10
Tema 2.14. Pa3Butue Urenue u nepeBoxa Tekcta. | Y1, V2, Y3, 31
CBapOYHOI0 OK 01, OK 03,
IIPOU3BOICTBA OK 09, JIP7, JIP9
Tema 2.15. YcTHbIi ompoc. V1,V¥2,V3,31
CoBpemMeHHOE MoHoJI0rH4ecKoe OK 01, OK 03,
CBapo4yHOE cOO0O0IIIeHHE. OK 09, JIP7, JIP9
TIPOM3BOICTBO

OueHka  OCBOGHHUS  OUCHMIUIMHBI  WHOCTpaHHBIM  s3bIK  (QHTJIMMCKUN)

peyCMaTpUBAaET CUCTEMY OLIEHHMBAHUS: PE3yJbTaThl TEKYLIETro, pyOeKHOro KOHTPOJI,
IPOMEKYTOYHOM aTTeCTalUH.

JuddepeHpoBaHHbIE 3a4€Thl MPOBOAATCS B CPOKH, YCTaHOBJIEHHBIE Y4€OHBIM
IUIAaHOM, U OIpeJeNnseMble KaleHAapHbIM y4eOHbIM rpadukoM 00pa30BaTEIBHOTO
npouecca. JuddepeHurpoBanHbie 3a4eThl MPOBOAATCS B (popMe KOHTPOJIBHON PabOTHI.
Pacrnipenenenue npoBepsieMbIX Pe3ylbTaTOB OOYUYEHHs] AUCLUMUILIIMHE MO BHJaM KOHTPOJIS

MIPUBOJUTCS B CBOJTHOM TaOIHIIe

Taomnuia 4 Csognas tadiuia 1Mo JUCHUILUINHE

Pe3ynbprarel Texkymui KOHTPOJIb IIpomexxyTounast
o0OyueHus 1o arTecTalus
JTUCIUTUIMHE VYerawiit | Tectupo|  Jlexkcuko- KonTposibHbI Hud.
onpoc BaHHE | TpaMMaTHyeC € paboThI 3auer
KM€ 3aJIJaHus
Ymers | V1 + + + +
v2 + + + + +
V3 + + + + +
3nate | 31 + + + + +

2. MoHJ OLEHOYHBIX CPEACTB /JIfl OIEHKU YPOBHSI OCBOECHHSI YMEHUIl M
3HAHUM N0 TUCUMUILIMHE
2.1 MarepuaJibl TeKylIero KOHTPOJISI YCIIeBAeMOCTH

BxoaHOM KOHTPOJIb
@opMOoii BXOJJTHOTO KOHTPOJIS 10 AUCHUIIIMHE IHOCTpaHHBIN SI3bIK (aHTITUHACKUI)

SIBIIIETCS JICKCHKO-TPAaMMAaTHICCKUN TecT. Bpemst BbITtoTHEHUST paboThl 20 MUHYT.
[TpoBepsiembie 3Hanus u ymenus: Y1, Y2, Y3, 31, OK 03, OK 04, OK 07, JIP7,
JIP9, JIP10.




Kpurepun onenku:
«5» - 3amanus BeinoJiHeHBI HA 91-100 %
«4» - 3ananns BeinoHEHBI Ha 71-90%
«3» - 3amanus BeIIoJHEHBI HAa 51-70%
«2» - 3a71aHUs HE BBINMOJHEHBI WK uMeeTcs 0osee 50% ommbok
1 BapuaHT
1. The Republic of Buryatia ....in the south part of the East Siberia, southwards
and eastwards of the lake Baikal.
a) is situated b) separates c) divides
2. Buryatia .... fresh, mineral and thermal waters.
a) Isused in b) belongs c)isrichin
3. Igetupat...7o’clock in ... morning.
a) -,a Db)the,a c)-,the
4. This is ... my room. ... room is large.
a) -,theb)-,-¢)-,a
5. ... Volga flows in ... central part of ... Russia.
a) the, a, - b) -, the, the c) the, the, -
6. We live ... a nice place.
a) on b)in c)at
7. My mother gets up ... 6 o’clock.
a)at b)to c)in
8. The trousers are made ... cotton
a)in Db) of c)at
9. Every day he ... to the sports club.
a)has gone b) go c)goes
10. Look, she ... in the bedroom.
a)sleeps Db) slept c) is sleeping
a) some b) many c) any
11. There is not .....ink in my pen.
a) some b) many c) any
12. It’s ..... to go there by car.
a) cheap b) cheaper c) cheapest

13. I’ve never seen ..... that tall before.
a) anybody b) somebody c) everything
14. Poetry of the 19th century is beautiful. ... influence on our generation is
great.

a) she b) her c) its
15. We enjoyed the concert very .....
a) much b) many

2 BApUAHT
1. Lake Baikal ........ in the centre of the Asia
a) is famous for b) is situated c) is rich in
2. We ...... of the fact that we live in such a wonderful place.
a)are Db) areproud c) have
3. I'live on ... second floor.



a) the b)a c) -
4. 1 go to college by ... bus.
a)- b) the c)a
5. Moscow is ... big city.
a)a b)thec)-
6. He goes ... the seaside every summer.
a)to b)inc) at
7. The plates are ... the table.
a)at b) on ¢)in
8. He came ... London last week.
a)in b)toc) -
9. Yesterday my brother ... a new bicycle.
a)buy b) will buy c) bought
10. They ... already the blackboard.
a) cleaned b) have cleaned c) are cleaning
11. Where is Mark? He....... shower.
a) has Db) is having c) has had
12. There are not .... mistakes in your test.
a) much b) some c) any
13. Did .... ring me up?
a) somebody b) nobody c) anybody
14. The film was really.....
a) bored b) boring
15. He is two years ..... than you.
a) older b) old c) oldest

OTBETHI:
1 BapmanT: 1a 2c 3c 4a 5¢ 6b 7a 8b 9¢ 10c 11c 12b 13a 14c 15a
2 BapuanT: 1b 2b 3a 4a 5a 6a 7b 8a 9¢ 10b 11b 12c¢ 13c 14b 15a

MarepuaJjibl TEKyLIero KOHTPOJIs

Marepuansl TEKYIIEr0 KOHTPOJS COAEPKATCA B  METOAUYECKUX
pa3paboTkax, yTBepxkAeHHbIX Ha 3acenanuu [IMK (cm. YMK), tembr u Qopmbl
caMmocTosiTeTbHOM padoThl — B rpaduke CPC nmo nucuuruinHe. Texkymuil KOHTPOIb
Mo AUCHUIUIMHE MHOCTpaHHBIM S3bIK (QaHTJIMMCKUI) COCTABJIEH B COOTBETCTBUU C

paboueit yueOHOU mporpamMmoin. Marepuainbl TEKYIIETO KOHTPOJISI COAEpKATCS B
YMK

MarepuaJibl py0e:KHOro KOHTPOJIS

PyOexxHbIii KOHTpOJL mpoBoautTcs B Kouime 3/1, 5/3 cemectpoB B ¢opme
KOHTPOJIbHOW paboThl. JlaHHBIE KOHTPOJbHBIC pabOThI HAMPABICHBI HAa MPOBEPKY
YCBOCHUSI OCHOBHBIX JIEKCUYECKUX M IPAMMATHUECKIX HOPM aHTJIUICKOTO SI3bIKA.



[Tposepsiembie 3Hanus 1 ymenwnsi: Y1, Y2, V3, 31, OK 01, OK 03, OK 04, OK 06,
OK 07, OK 09, JIP2, JIP7, JIP9, JIP10, JIP12.

3/1 cemectp

PyOexublii koHTposib B 3/1 ceMecTpe HMPOBOAMTCSA IO CACAYIOIIMM TEMaM:
«AnrnosseluHbIe cTpaHb», «llyremectBuey», «Marasunsl. [lokymkm», «Haykay.
3agaHus TpeArnojiaraloT IEepeBOJi TEKCTa, OTBEThl Ha BOMPOCHI, COCTaBJICHUE
MIPEIIOKCHHUI U OTIpeieSIieHne BPEMEHH TJIaroJia.

[Tpu BBIMOTHEHUN MOYKHO TIOJIb30BATHCS aHTJIO-PYCCKUM CIIOBAPEM.

MakcuMasibHOE BpeMsl BBIITOTHEHUS 3a0aHus 90 MUHYT.

Kpurepun oneHku pe3ynprara:

«5» - 3amanus BeioHeHRI Ha 91-100 %

«4» - 3amanus BeIToJHEHBI Ha 71-90%

«3» - 3aganns BeInoJHeHs! Ha 51-70%

«2» - 3aJ1aHNs HE BHITIOJIHEHBI I uMeeTcs 0osee 50% ommbox

1 BapuaHT

1. Read and translate the text.

People began to travel long ago. The very first travelers were explorers who
went on trips to find wealth, fame or something else. Their journeys were dangerous
but still people keep on going to the unknown lands.

Nowadays it is not as dangerous and much more convenient. Hundreds of
companies are there to help you. They will care about your tickets and make all the
reservations needed. If you don’t speak the language of the country, there are the
interpreters that will help you.

Tourism has become a very profitable business because people are ready to
spend their money for the great opportunity to have a good time learning about new
cultures, going sightseeing resting and enjoying themselves.

2. Answer the following questions.

a) Name the reasons people traveled in the past and travel nowadays.

b) What do the travel companies do to help you to travel?

3. Finish up the sentences.

a) If a person doesn’t know foreign language he can rely on ....

b) Tourism is not a cheap business because ...

4. Find in the text the sentences in:

a) Present Simple b) Present Perfect c¢) Past Simple (momuepkHuTe riaro-
CKazyemoe)

5. Make a sentence using the following words.

Shops, food, things, are, other, necessary, because, need, we, clothes, and.
10



6. Answer the question.
What kinds of shops do you know?
7. Fill the gaps.

a. The UK (coctourt u3) 4 parts, which are: England, Scotland, Wales and
Northern Ireland.
b. Their (cromuisr) are London, Edinburgh, Cardiff and Belfast.
c. The UK (ombiBaetrcs) the Atlantic ocean and the North Sea.
8. Answer the questions.

a. Who is officially the head of the state in Great Britain?
b. Which building is the official residence of Queen Elizabeth 11?

2 BApUAHT
1. Read and translate the text.

People in our planet can’t live without travelling now. Our ancestors liked to
travel as well, but tourism has become a highly developed business not long ago.
There are a lot of companies that provide you with comfort and security. What
choice to make? There is a great variety of choice available for you. Those who live
in the country like going to a big city, visiting museums and art galleries, looking at
the shop windows and dining at exotic restaurants. City-dwellers prefer holidays at
the sea or in the mountains with camera.

Nowadays people travel not only for pleasure but also on business. You have to
go to other countries to participate in different negotiations, to sign contracts and
push the goods produced by your firm or company.

2. Answer the questions to the text.

a) What are the reasons people travel around the world?

b) What do people do if they travel on business?

3. Finish up the sentences using the text.

a) Travel companies help you to be ...

b) Tourism needs a lot of money because itisa ...

4. Find in the text and write down the sentences in:

a) Present Simple D) Present Perfect c¢) Past Simple. (momuepkuuTe riaroJ-
CKazyemoe)

5. Make a sentence using the following words:

And, people, galleries, a, city, big, museums, visit, in, restaurants.
6. Answer the question.

What can you buy at the butcher’s?

7. Fill the gaps.

a. The UK (ormeneno ort) European continent by the English
Channel.

11



b. The flag of the United Kingdom (na3siBaercs ) as the Union Jack
and (coctout) of three crosses.
c. The area of the UK (coctarisier) 244,100 square kilometers.
8. Answer the questions.

a. How many Houses does the British Parliament consist of?
b. What is the City of London famous for?

5/3 cemecTp

PyOexHbIii KOHTPOJIb B 5/3 ceMecTpe MPOBOAUTCS 10 CIACAYIONIUM TEMaM:
“Kynbrypa”, “TIpo6remsr mosoaéxkn”, “KommbioTepsl”. 3aganus MpeoaraoT
MEPEBOJT TEKCTA, OTBETHI HA BOMPOCHI, COCTABJICHHE MPEIOKEHUHN U ONIPECIICHAE
BPEMEHHU TJIaroJa.

[Tpu BBIMOTHEHUN MOYKHO TIOJIb30BATHCS aHTJIO-PYCCKUM CIIOBAPEM.

MakcuMasibHOE BpeMs BBITOIHEHUS 3a0aHus 90 MUHYT.

Kpurepun oneHkn pe3ynprara:

«5» - 3aganns BeimoaHeHsl Ha 91-100 %

«4» - 3ananus BeinoaHeHs! Ha 71-90%

«3» - 3aganus BeInoJHeHs! Ha 51-70%

«2» - 3aJ1aHNs HE BBITIOJIHEHBI MM nMeeTcs 6omee 50% ommbox

1 BapuaHT
1. Read the text and translate it in written form.

Computers are “big brains” which can solve the most difficult problems of
science and engineering. Early computers were not like those we have today.
Modern computers have many applications in a great variety of fields and help to
change our lives and the world around us. Computers are already widely used in
education and the time has come when it is possible for ordinary people to use them
as well. They are capable of doing extremely complicated work in all branches of
human activities. The basic job of computers is the processing of information. A
computer can replace people in dull, routine tasks, but it works according to the
instructions given to it.

2. Find Russian equivalents to the phrases:

to diagnose illnesses — b) capable of doing - ¢) widely used —

d) solve problems - e) big brains -

3. Answer the questions:

a) Why do people widely use computers?

b) In what spheres of life are computers used?

c) Do they help you in your study?

4. Finish up the following sentences:

a) Computers are capable to do complicated work, for example ...
b) Computers help ... ...

c¢) Ordinary people ... ...

5. Write out from the text the sentences in:

a) Present Simple b) Present Passive c) Past Simple (IToguepkHuUTE TIIArOJN-
CKa3yeMoe)

6. Translate the following sentences into English.
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a) Monooe MOKOJIEHUE CTaJIKUBAETCSd CO MHOTHMH IpoOJieMamu, TaKUMH, Kak
BeyHbIe MpOoOJIEeMbl BBIOOpAa Kapbephl U IMOJYy4YE€HHUS OOpa3oBaHMs, MPOoOIEMOit
HE3aBHCUMOCTH U JIeHET, 0e3pa0oTHIlbI, MPOOJIEeMON OTIOB U AETEH, NPYX OBl H
OJIMHOYECTBA, MIEPBOM TIOOBU U MHOTUMH JPYTHUMH.
b) Haumbonee BakHOW TpPOOIEMON SBISIETCS BBIOOP Kapbepbl, KOTOpas OYCHb
TpyJHA, TaK KakK 4YEJOBEKY MPUXOAUTCS OpaTh Ha ce0si OTBETCTBEHHOCTH, IS
KOTOpPOM y HEro HEeJOCTaTOYHO JIMYHOTO OIbITa, 3HAHMS pBIHKA Tpyla W
BO3MOYKHOCTH HalTH padoTy.
7. Answer the questions.
Who in your opinion has made the greatest contribution to the literature of the 20"
century?
What composers do you know?

2 BApUAHT

1. Read the text and translate it.

Computers can provide information how to prevent traffic accidents; they can
translate texts, control technological processes in factories, play chess, write poetry
and compose music. Computers are used in hospitals as well. They help doctors to
diagnose patients’ illnesses. Airline pilots use computers to help them to control the
plane operations. In airport computers are to control radar systems and regular air
traffic. Computers help in operation of railways and control train traffic as well.
Long ago people didn’t imagine such kind of equipment. There are times when
computer seems to operate like a mechanical “brain”, but its achievements are
limited by human minds.

2. Find Russian equivalents to the phrases:
a) provide information —
b) all branches —
c) train traffic -
d) to control radar systems —
e) prevent accidents —
3. Answer the questions:
a) Why do doctors use computers?
b) Why are they called “big brains™?
c) What complicated work are they capable of doing?
4. Finish up the following statements:
a) Computers help pilots to ...
b) In factories they control ...
c¢) They are used in different spheres of life, for example ...
5. Write out from the text the sentences in:
a) Present Simple b) Present Passive c) Past Simple.
(IToruepkHUTE TI1AroJ-cKa3zyemMoe)
6. Translate the following sentences into English

13



a)  bespaboruma — ogHa w3 Hambonee (yHIAMEHTAIbHBIX MPOOIEM, C
KOTOPBIMU CTAJIKMBAIOTCSI MOJIOZBIC JIIOJU M3-3a OOILEro Kpu3uca B HKOHOMHUKE U
pPa3BUTHUS TEXHUKH.

b)  MHorue pomuTenu uepecdyp OIEKAIOT CBOHMX JACTEH M 3alpelarT UM
BCTPEYATHCS C MPEICTABUTEISIMH ITPOTUBOIIOJIOKHOTO TOJIA.

7. Answer the questions.
Who is your favorite writer? Why?
Do you often go to the art museums? Who are your favorite artists?

2.2 MaTtepuaJjibl NIPOMEKYTOYHOM aTTecTAUM.
3agaHus JUISl OLICHKM OCBOEHHWS 3HAHUU TMPEACTaBIAIOT au(depeHInpOBaHHbBIC

3a4eThl MO TeMaM Y4YeOHBIX CEMECTpOB paboueld ydyeOHOW mporpaMMbl JUCHUTUIMHBI
OI'CD.03. MHOCTpaHHBIM SI3bIK (AHTJIMICKUN):

4, 6, 8 cemectprl B GopMme nudpepeHInpoBaHHOTO 3a4eTa B BUAE KOHTPOJIbHOM

pabotel / 2, 4, 6 cemecTphl B dhopme audhepeHITMPOBAHHOrO 3a9€Ta B BUAC KOHTPOJIHHOM
paboTEHL.
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OEJIEPAJIBHOE ATEHTCTBO XEJIE3HOJJOPOXKHOI'O TPAHCIIOPTA
VYnaH-Y I3HCKUHN KOJUIEIK JKEJIE3HOAOPOKHOTO TPAHCIIOPTA —
¢dunuan denepanbHOTO TOCYIAPCTBEHHOTO OI0KETHOTO 00Pa30BaTEILHOTO YUPEKICHUS

BBICIIIETO 00pa30BaHUS

«MpkyTCKuil TOCYy1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOLLIEHUS»

(VYKXKT Hp['VIIC)

PACCMOTPEHO JIUDDEPEHIIMPOBAHHBIN 3AUET | COI'JIACOBAHO
MK ryMaHUTapHBIX JUCIUILTAH Hucnumnuna: OI'CD.03. 3am. TupekTopa Kosuiemka no YP
npoTokos Ne 5 ot 08.04. 2024 WHocTpaHHbIH A3bIK (aHTTTMHCKUIT) -
/ CnemnuanbsHocTh: 22.02.06 (o, H.A. Bouaposa
M.HU. Caiibyraunosa CBapo4HOE MPOU3BOICTBO (moamucek) (1.0.0)
(IO IIHCH) (1.0.®) 2 xype, 4 cemectp / 1 Kypc, 2 cemectp | 24.04.2024
Konrtponsnas pabora
1 BapuanT
HucTpykuus
1. 3aI[aHI/I$[ npeanojararoT nepeBoJy TCEKCTA, OTBCTHI Ha BOIIPOCHI, COCTABJICHHC

IIPEUIOKEHUI U OIIpeIeIEHNe BPEMEHU TJ1aroa.

2.
3.
4.

[Ipy BBIMOJHEHUU MOKHO MOJIb30BATHCS AHIJIO-PYCCKUM CIIOBAPEM.

MakcuManbrHOe BPEM BBIINIOJIHCHUA 3aaHUA 40 MHUHYT.

Kpurepuu onieHku pesynbrara:

- «OTJIHYHO» - CTABHUTCA 34a IIPAaBUJIbHOC BBIIIOJIHCHHC 5 3amaHui

- «XOpOomo»- CTABUTCA 34 IMPAaBUJIbHOC BBIIIOJIHCHHC 4 3aJJaHuM

- «YOAOBJICTBOPHUTCIBHO» - CTABUTCS 34 IPABUJIBHOC BBIIIOJIHCHUC 3 3aJaHui
- «HCYHAOBJICTBOPHUTCIBHO» - CTABUTCS 34 IPABUJIBHOC BBIITIOJIHCHUEC 2 ¥ MeHee SaHaHI/Iﬁ.

1. Read and translate the text in written form.

Shopping has become a part of our life. We have to deal with it whether we like it or not.
There are people who hate going shopping. So they make a list of what they need and run
through stores buying the needed things. Sometimes they don’t care about the price. And there
are people who go from store to store looking for goods of better quality and lower price. Those
don’t worry about the time they spend shopping.

There is a great variety of shops and supermarkets in every town and city. They are
equipped with escalators which take customers to different floors. As soon as you enter the
shop, you find yourself in a fantastic motley city of skirts, pullovers frocks and leather boots

and shoes.

2. Answer the questions to the text.
a) What do people do if they hate shopping?
b) What equipments are there in the big shops?

3. Finish

up the sentences.

a) If people like shopping they don’t care about ...

b) Some shops look like ...

4. Find in the text and write down the sentences in:

a) Present Simple b) Present Passive c) Present Perfect
5. Make up a sentence using the following words:
Shops, food, things, are, other, necessary, because, need, we, clothes, and.

[IpenonaBarens

M.U. CaiipyrauHoBa
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OEJIEPAJIBHOE ATEHTCTBO XEJIE3HOJJOPOXXHOI'O TPAHCIIOPTA
Van-Y 13HCKHI KOJUIEIK KETE€3HOAOPOKHOIO TPAHCTIOPTA —
¢bunnan denepanrbHOTO rOCYIAPCTBEHHOTO OI0KETHOTO 00Pa30BaTEIBLHOTO YUPESKICHHS
BBICIIIETO0 O0pa3oBaHUs

«MpkyTCKUil TOCY1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOILIEHUS»
(YYKKT HpI'VIIC)

PACCMOTPEHO JUDDEPEHI[MIPOBAHHBIN COI'JTACOBAHO
MK ryMaHuUTapHBIX JUCIUILIAH 3AYET 3am. TupexTopa KoJuiemxka no YP
npotokon Ne 5 or 08.04. 2024 Jucuunnuna: OI'CD.03. e T
/ WHoCTpaHHbI S3bIK (aHTTUHCKHIIT) IA77 HU.A. Bouaposa
M.U. CaiibyranaoBa CnennanpHocTs: 22.02.06 (TomHCH) (1.0.D)
(TomHCH) (M.0.9) CBapo4HOE MPON3BOICTBO 24.04.2024
2 xype, 4 cemectp/ 1 Kypc, 2 cemecTp
Konrtponpras pabdora

2 BapHaHT

NucTpyknus

1. 3apmanus nmpeamosnararoT NEPeBOJ TEKCTa, OTBETHl Ha BOIPOCHI, COCTaBJICHUE
MIPEIJIOKEHUI U ONPEIeJIEHNE BPEMEHH IJ1aroJa.
2.  Ilpu BBINOJIHEHUU MOYKHO TTOJIb30BATHCS aHTIIO-PYCCKUM CIIOBAPEM.
3. MakcumanbHo€ BpeMs BBITIOHEHUS 3a1aHus 40 MUHYT.
4.  Kputepuu OLIEHKH pe3yJibTara:

- «OTJIMYHO» - CTAaBUTCS 3a MIPABUIILHOE BBIIIOJHEHUE 5 3ajaHui

- «XOpOILO»- CTAaBUTCS 32 IPABUIILHOE BBIIIOJHEHUE 4 3a1aHUI

- «YIOBJIETBOPUTEIBHO» - CTABUTCS 3a PABUIILHOE BBIIIOJIHEHUE 3 3a1aHUi
- «HEYJIOBJIETBOPUTEIIBHO» - CTAaBUTCS 3a IPAaBUJIIBHOE BBHINOJHEHHE 2 M MEHEe
3aJIaHUH.

1. Read and translate the text in written form.

With the development of crowded industrial cities which put huge amounts of pollutants into
small areas, the problem of environment has become very important. Automobiles and other
new inventions make pollution steadily worse. Air, water and soil are necessary for existence of
all living things. But air can cause illness, and even death. Polluted water kills fish and other
marine life. On polluted soil food can not be grown. In addition environmental pollution spoils
the natural beauty of our planet. Pollution can be reduced gradually.

Scientists and engineers must find the ways to reduce pollutants from automobiles and
factories. Government can pass the laws that will make enterprises take measures for reducing
of pollution.

2. Answer the questions to the text.

a) Why have the problems of environment become important?

b) What activities are necessary to save our planet?

3. Finish up the sentences using the text:

a) We must reduce ... to make our air clean.

b) Living things can not exist without ....

4. Find in the text and write down the sentences in:

a) Past Simple b) Present Simple c¢) Future Simple

5. Make up a sentence using the following words:

Pollutants, earth, our, animals, from, birds, dangerous, protection, need

IlpenonaBatens M.U.CaitbyranHoBa
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®EJIEPAJIBHOE ATEHTCTBO XEJIE3HOJIOPOXXHOI'O TPAHCIIOPTA
VaH-Y 13HCKHI KOJUIEIK KETE€3HOAOPOKHOIO TPAHCTIOPTA —
¢bunuan deneparbHOrO rocy1apCTBEHHOTO OI0IKETHOTO 00Pa30BaTEIBLHOTO YUPESKICHHS
BBICIIIETO 00pa30BaHUS

«MpKyTCKuil TOCY1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOILIEHUS»
(YYKKT HUpI'VIIC)

PACCMOTPEHO JIUDODEPEHIIMPOBAHHBIN 3AUET | COI'JTACOBAHO
MK ryMaHuUTapHBIX JTUCIUILIAH Hucnumnuna: OI'CD.03. UHocTpanHblid | 3aM. AupeKTopa Kojuiemka no YP
npoTokos Ne 5 ot 08.04. 2024 S3bIK (aHTIIMHCKHN) T
- CrienmansHoCTh: 22.02.06 aA77 U.A. Bouaposa
M.U. CaiibyrauHoBa CBapouHoO€e MPOMU3BOJICTBO (moamucek) (1.0.D)
(o THCB) (1.0.®) 3 kype, 6 cemecTp / 2 Kypc, 4 cemectp | 24.04. 2024
Konrtponsnas pabora

1 BapuanT

Hucrpykuus
1. 3aganus mnpexnonaraloT IMEPEBOJ TEKCTA, OTBEThl Ha BOIPOCHI, COCTABJICHUE
IIPEII0KEHUHN U ONPEJEIICHNE BPEMEHH IJ1aroJa.
2.  Ilpu BBINOJHEHUU MOXHO I10JIb30BAaThHCSI AHTJIO-PYCCKUM CIIOBAPEM.
3. MakcumanbHOe BpeMs BbINOIHEHUs 3a1aHus 40 MUHYT.
4.  Kpurepuu OoLEHKHU pe3ysbTaTa:
- «OTJINYHO» - CTABUTCS 32 IPAaBUIIBLHOE BBINIOJHEHHE 4 3a1aHUI
- «XOpOILIO»- CTABUTCS 3a PABUJIbHOE BBINOJIHEHHE 3 3aJaHUN

- «YOAOBJICTBOPHUTCIBHO» - CTABUTCS 34 IPABUJIBHOC BBIITIOJIHCHUEC 2 3a,I[aHI/II71
- «HCYHAOBJICTBOPHUTCIBHO» - CTABUTCS 34 IPABUJIBHOC BBIITIOJIHCHUEC ISaIlaHI/IH.

1. Translate the text in written form

The first use of diesel traction in Russia goes back to the first years of the 20™ century
when Russian engineers made an attempt to develop a number of designs for a diesel
locomotive. Because of the outbreak of World War I they didn’t finish the work. And it was
in 1922 that Russian designers started working on the construction of the first diesel-electric
locomotive. This locomotive was successfully built under the personal direction of the
professor J.M.Hackel from Petrograd. Diesel locomotives could work in waterless areas
without rewatering and refueling. Besides that, these locomotives can be made in very small
sizes.

2. Answer the questions according to the text

a) When did our engineers begin working on diesel locomotives?
b) What are the advantages of diesel traction over steam traction?
¢) Who headed the work under the diesel construction?

d)

3. Find in the text sentences in:

a) Present Simple b) Past Simple c) Past Passive

4. Make up one sentence using the following words:
Locomotives, other, of, traction, diesel, advantages, over, have, a lot of, kinds.

[Ipenonasarens M.U.CaiidpyrauHoBa
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®EJIEPAJIBHOE ATEHTCTBO XEJIE3HOJIOPOXXHOI'O TPAHCIIOPTA
VaH-Y 13HCKHI KOJUIEIK KETE€3HOAOPOKHOIO TPAHCTIOPTA —
¢bunuan deneparbHOrO rocy1apCTBEHHOTO OI0IKETHOTO 00Pa30BaTEIBLHOTO YUPESKICHHS
BBICIIIETO 00pa30BaHUS

«MpKyTCKUi TOCYIapCTBEHHBIN YHUBEPCUTET MyTEH COOOIICHUS»
(YYKKT HUpI'VIIC)

PACCMOTPEHO JIUODEPEHIMPOBAHHBIM COI'JTACOBAHO
IIMK rymMaHUTapHBIX AUCHUIIUH 3AUET 3aM. aupexTopa Kojuiemaka no YP
nportokoin Ne 5 ot 08.04. 2024 Jucrumusa; OTCD.03. o 7
: . WHOCTpaHHbIA A3bIK (aHTIIMIACKHI) il H.A. bouapoga
M.W. CaiibyranHoBa (mmoxmucs) (1.0.0)

JE— (I1.0.D) CneuunanbHocTh: 22.02.06 24.04.2024
CBapo4HOE MMPON3BOICTBO
3 Kype, 6 cemecTp/2 Kypc, 4 cemectp

KontpomnsHas pabdora

2 BapuaHT

HNucrpykuus

1. 3a,I[aHI/I$I npeamojararoT InepeBoa TCEKCTa, OTBETbl Ha BOIIPOCHI, COCTABJICHUC
Hpe,I[J'IO)KeHI/Iﬁ H OIIPCACIICHNUEC BPCMCHHU I'J1arojia.
2. HpI/I BBIITOJIHCHHUHU MOKHO ITOJIB30BATHCA aHITIO-PYCCKUM CJIOBAPEM.

w

MakcumManbHOE BpeMsl BhINONHEHU 3a1aHus 40 MUHYT.

4. Kpurepuu OLEHKU pe3ybTaTa:

- «OTIMYHO» - CTABUTCS 3a MPABUIIbHOE BHIIIOJHEHHE 4 3aaHU
- «XOpOILLIO»- CTABUTCS 3a MPABUIbHOE BHINOJIHEHHE 3 3aJaHUN

- «YOOBJICTBOPHUTCIBHO» - CTABUTCA 3a IPABUJIBHOC BBIITIOJIHCHUEC 2 3a;1aH1/11?1
- «HCYHOBJICTBOPUTCIILHO)» - CTABUTCA 3a IIPABUJIBHOC BBIIIOJIHCHUC 1 3aJaHusl.

1. Translate the text in written form

There is a wide variety of electric traction systems around the world. Many installations seen
today were first built more than 100 years ago. Faraday’s discovery in the 1820s that electricity
could create continuous motion initiated several attempts to power railed vehicles in the
nineteenth century. Its role in technological development was greater than that of steam in the
previous fifty years. At first, this kind of traction was used in Germany and America in mines
because of its mechanical simplicity, but a few years later it led to the construction of the first
electric passenger trams. In Germany a short line was constructed in 1881.

2. Answer the questions according to the text
a) Why was electric traction introduced on railways?
b) Where was electric traction used first?
¢) Who invented electricity?
3. Find in the text sentences in:
a) Present Simple b) Past Simple c¢) Past Passive
4. Make up one sentence using the following words:
Traction, a, role, great, in, development, the, of, electric, railways, played.

IIpenonasareins ' M.M.CaiipyrauHoBa
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OEJIEPAJIBHOE ATEHTCTBO XEJIE3HOJJOPOXXHOI'O TPAHCIIOPTA
VnaH-Y IPHCKUN KOJUTEIK KEIE3HOIOPOKHOTO TPAaHCIIOPTA —
¢dunman denepanbHOTO TOCYIAPCTBEHHOTO OI0KETHOTO 00Pa30BaTEILHOTO YUPEKICHUS
BBICIIIETO0 O0pa3oBaHUs

«MpkyTCKuil TOCY1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOILIEHUS»
(YYKXKXT HpI'VIIC)

IIMK rymMaHUTapHBIX AUCHUIIUH Jlucuurmmna: OT'CD.03. MHOCTpaHHbIi 3aM. aAupeKTopa Kojuleqka no YP

npotokoi Ne5 ot 08.04. 2024 S3BIK (AHTITHICKITIT) e
M.U. CaiidpyrauHopa CrenmansHocTh: 22.02.06 “nitl s UL.A. Bouaposa
(moamuce) (1.0.0) CBapovHOE MPOM3BOJCTBO (moarucs) (1.0.9)
4 xypc, 8 cemecTp/3 Kypc, 6 ceMecTp 24.04.2024
KonTtponpkHas pabora

1 BapuanT

HNucTpykuus

1. 3amanus mnpenamonaraldT MEPeBOJ, TEKCTa, OTBEThl Ha BOMIPOCHI,
COCTaBJICHHE MPEATIOKEHUN U OIpe/ieJIeHHe BpEMEHH Tiaroa.
2. Ilpu BHIMOIHEHUH MOKHO MOJIb30BATHCS AHTJIO-PYCCKUM CIIOBAPEM.
3. MakcumanbHoe BpeMs BbIIOTHEHUS 3aaanust 40 MUHYT.
4. Kputepuu OLIEHKH pe3yabTaTa:
- «OTJIMYHO» - CTABUTCH 3a IPABUJIbHOC BBIIIOJTHEHUE 4 SaHaHI/Iﬁ
- «XOpPOI1IO»- CTAaBUTCA 3a IPABUJIBHOC BBIIIOJIHEHUE 3 SaI[aHI/Iﬁ

= «YHOBJICTBOPHUTECJIILHO» - CTABUTCH 3a IIPABUJIBHOC BBIIIOJIHCHHUC 2 3aI[aHI/H71
- «CHEYHOBJICTBOPUTEJIBHO» - CTABUTCA 3a IMPAaBUJIBHOC BBIIIOJIHEHUEC 1 3aJJaHus.

Iucomenno nepegedume mexcm.

One of the new ideas put forward in the last quarter of the 19™ century was the idea of a
monorail railroad. The idea was laughed at by many but some people believed it was a promising
one.

One of the first monorails appeared in 1882 when L. Brennan, an Irishman, built an
experimental monorail car. The inventor designed his car as a military vehicle because the speed
at which a single rail could be laid made it ideal for military purpose. According to Brennan, those
cars could be worked with steam, petrol and electricity. In 1887, a Russian engineer . Romanov,
designed a suspended electrical monorail that was successfully demonstrated in St. Petersburg.
There are more than 20 monorails, most of them experimental, operating in the world today. Their
successful operation shows that they could be used as means of regular passenger transport.
ITucomenno omeemovme na 60RpPOCHL RO meKcmy:

For what aim did Brennan design monorails?

b) What fuel could the cars work with?

2. Onpeodenume spems u 3ano02 npeonoxcenui. Iloouepknume 2nazon-ckazyemoe 6
Kaxcoom u3z Hux.

a) The idea was laughed at by many people.

b) But some people believed it was a promising idea.

¢) Their successful operation shows that they could be well used as a mean of regular
passenger transport.

3. Cocmasbme npeonoicenue, uCnoab3ysa ciedyouiue ciosa.

Cities, can, provide, this, traveling, monorail, between, large, comfortable.

[IpenonaBarenp ' M.U.CaitdytanHoBa
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OEJIEPAJIBHOE ATEHTCTBO XEJIEZHOJJOPOXXHOI'O TPAHCIIOPTA
Van-Y 13HCKHI KOJUIEIK KETE€3HOAOPOKHOIO TPAHCTIOPTA —
¢bunnan denepanrbHOTO rOCYIAPCTBEHHOTO OI0KETHOTO 00Pa30BaTEIBLHOTO YUPESKICHHS
BBICIIIETO0 O0pa3oBaHUs

«MpkyTCKUil TOCY1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOILIEHUS»
(YYKKT HpI'VIIC)

PACCMOTPEHO JIMODEPEHIIMIPOBAHHBIN COI'TACOBAHO
IIMK rymMaHUTapHBIX AUCHUILIUH 3AUET 3aM. aupexTopa Kojuiemaka no YP
npotokoi Ne5 ot 08.04.2024 Juciumusa; OTCD.03. e

H.A. Bouaposa

M., CaiidyTmHOBa WHocTpaHHbIH A3bIK (aHTTTHHCKUI)

(monKcK) (1.0.®) CrenunansHocTh: 22.02.06

(HO‘ﬂHI/I‘CL) (1.0.D)

24.04.2024
CBapo4HO€e NPOU3BOACTBO

4 xypc, 8 cemectp/ 3 Kypc, 6 cemectp
KontponsHas pabora

2 BapuaHT

NucTpyknus
1. 3aIlaHI/I$[ npeamnogararoT nepeBoJ TCKCTa, OTBECThI Ha BOIIPOCHI, COCTABJICHUC HpeIIJIO)KCHI/Iﬁ n
olpeziesieHue BPEMEHH IJlarosia.
2. Tlpu BBIOTHEHUH MOKHO TOJIH30BATHCS AHTIIO-PYCCKUM CIIOBAPEM.

w

MakcumManbHOE BpeMsl BhINONHEHU 3a1aHus 40 MUHYT.

4. Kpurepuu OLEHKU pe3yabTaTa:

- «OTIMYHO» - CTABUTCS 3a MPABUIILHOE BHIIOJHEHHE 4 3aaHU
- «XOpOILLIO»- CTABUTCA 3a NPAaBUIIbHOE BBINOJIHEHUE 3 3alaHui

- «YIOBJICTBOPUTEIILHOY» - CTABUTCS 32 NMPABUIHLHOE BHIMOTHCHHE 2 3a1aHUN
- «HEYIOBIECTBOPUTEIIBHO» - CTABUTCS 32 MPABUIHLHOE BHIMIOJTHCHHE | 3aMaHUS.
1. Illucomenno nepeeedoume mexcm.

Russian Railways consider organization of locomotive construction and repairs as one of its
most important tasks, as the railway traffic is constantly growing. The repair cycle for the
Russian railways is divided into three stages: inspection, preventive inspection, heavy repairs.

Preventive inspection, minor and heavy periodical repairs and lifting repairs including
replacement of worn out parts. This work is carried out at main depots by special teams.

Heavy repairs carried out at special repair shops and at large motive power depots. These
repairs involve dismantling of all assemblies and equipment and replacement of damaged or
worn out parts. During heavy repairs locomotives are also substantially modernized.

Locomotive depots and repair shops of Russia are characterized by extensive use of lifting
and mobile equipment, including bridge cranes, jib cranes, electric loaders and other equipment.
2. Omeemvme nHa 60NPOCHL NO MEKCMY.

a) How are locomotive depots and repair shops equipped?

b) What are heavy repairs?

3. Onpeoenume epemsn u 3a102 npednoxcenuil. Iloouepknume 2nazon-ckazyemoe.

a) The repair cycle is divided into three parts.

b) Russian Railways consider organization of construction and repairs one of the most important
tasks.

¢) ...as the railway traffic is constantly growing.

4. Cocmaevme npeonoscenue, UCROIb3YA C1E0YIOuiUe C/1064:

Shops, devices, repair, are equipped, with, special.

IIpenonasareins ' M.M.CaiipyrauHoBa
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